
GND

A1

GND

+12V

GND

GND

GND

GND

GND

GND

GND

A20.1uFC9

0.1uF

C8

10 ohm, 1206

R1

TP12TP13

TP7

TP1

TP3
TP5

TP6

TP14

GND

10K

R3

10K

R8

0.1uF

C6

1K

R4

GND

GND

LED1

SLED, 0805

CONN4

10.0F, 2.7V

C5

GND

C1

47uF, 50V

GND

TP8

TVS1
14V

GND

4.7uF, 35V

C3

TP9 TP10

+12V

GND

10.0F, 2.7V

C10

30V, 0.2A, 1210

R11 0

R10 3K

R12 3K

R7 100

TP4

R1 power disipiation calculation:
  P=(I^2)R = (100mA)^2 (10)= 0.1W

Note:  The incorrect schematic symbol
for U2 was used originally.  This is the 
correct schematic symbol.

TP15

TP16

0.1uF

C7
1K

R6

-When Vin = 12V, TP11 
should be about 1.09V.  

TP2

SUPERCAP
CONTROLLER

SUPERCAP
CONTROLLER

CONN3 R2 21 ohm

Is D3 needed?
-Remove R2 from 
Rev A.

60V, 2.1A, VS-10MQ060NTRPBF

D2

audio speaker
audio speaker
              +12V
              GND

R5 100

R9 0

SW1

C2

47uF, 50V

NOTES:  
-Vcc goes down to 3.6V
while on the supercap.
-The "DFPlayer Mini"
works from 3.2V to 5.0V

TP11

-Set U2 to external clock
and set the brownout to 
2.7V.

D3
60V, 2.1A, VS-10MQ060NTRPBF

D4
60V, 2.1A, VS-10MQ060NTRPBF

4.7uF, 35V

C4

60V, 2.1A, VS-10MQ060NTRPBF

D1

DFPLayer mini

MP3 player:
  -Working voltage is
  3.2V to 5V

ACM4520V-231-2P-T00

R2 calculation:
  The current should be about 200mA
  R=5V/0.2A= 25 ohms
  The closest I have with 2 resistors is
     21 ohms.
   I=V/R=5V/21ohms=238mA
  P=V*I=(5V)(0.238A)=1.2W
     (for a short time)
  P=(I^2)R = (200mA)^2 (10)= 0.1W


